LESSON 34

In this lesson we learn the following :

#(1) J;_.nﬂ J_._» ¢ }-ol\ (the diptope) : It is a n7u ‘rab noun which does not

accept the tanwin, e.g., 95\») (2 Lot c,w\ MU cp_k\j‘
It is of two kinds :
a) Nouns which do not accept the tanwin for only one reason.

b) Nouns which do not accept the tanwin for two reasons.

Nouns which do not accept the tanwin for only one reason.

This reason is one of the two following things :

F 2‘ ’ . ¢ . . - . - . . . . . - a“’
a) Sl A Qe the alif signifying femininity. It is either 8 g2i (short) or

8> J.\_o:ﬂ (elongated). The first is a long -4 written in Arabic with a yd’ ( e=),
and the second is a long:-a followed by a hamzah (s)), and both these should

be extra added after the third radical, e.g.,

* o)}.a.nl‘ o) J\ ‘Sju ‘b\.m ¢°.Lr c\...a.s Q_,.p,n Note that words like

LA -

5——29 ‘young man’, ¢y ‘grinding stone’, w ‘stick’ are not diptotes because

the alif in these words is the third radical, and not extra.

* 83 gdall il i - o) ,es ‘;u.w\ s) yorr (s e 2. Note that words like

ez o (P4

sLsuif cd\ cs\__ci t3liana) are not diptotes because these are like o>y 3 ‘pui

e\—<r\ on the pattern of Jw\ and the hamzah is the third radical, and not

extra.

' o2 is the plural of ,2 + --> ‘world’ - > ‘pregnant’ -- Lis ‘gifts’ -- ¢s 3t plural of
(_;,.a ‘religious ruling’
% 5o ‘desert’ - ¢l o~ ‘red’, feminine of o~ -- 6. plural of 4o ‘friend’ - <! & plural

¥ -
of »i ‘poor’.
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b) @\-—l\ o3 ' i.e. thatis the plural on the patterns of ;LGL:%-; and :}-ﬁw,
e.g., :.9:\..9 ‘:}.n\sf ¢:}_..’)/t...» ¢:§4‘\:.x.; c}j\.ﬁ:f ‘:J.,)\:x:e ‘lrw

:}.3.3\.:0 cijy\.;.'a: c:;?\.:; c‘c_g\.wf “c;\;ﬁ

Words on the pattern ofziﬁ\-;i; (ie,d+ J.a\.u) are not diptotes, e.g., 4;-—\4\-»\
5;3\53 (305, These words accept the tanwin.

E -
Even singular nouns on these two patterns are diptotes, e.g., P«b\—-&—b

2 - b ] o y P
‘tomatoes’, ey ‘potatoes™ ; pélb ‘chalk’, b3\ pw ‘trousers’.
p 2 S

NOUNS WHICH DO NOT ACCEPT THE TANW/N FOR TWO
REASONS

These are either proper nouns (9-1-'5\) or adjectives (u':-p}\).

Proper Nouns

Proper nouns do not accept the tanwin when they have one of the following

reasons:

f-0 - A sor 2 o,

I~ - .
(1) ifthey are feminine, e.g., 8 0> () (&4l Note that & ;o> is the name of
a man, but the word is feminine as it ends in 14’ marbitah (8).

If a feminine proper noun is made up of three letters of which the second

letter is sdkin, it may be used both as a diptote and as a triptote’, but it is

better to use it as a triptote, e.g.,, @)y 483 (AR,

e g,flifi é_;.é.-l means ‘the ultimate plural’. Some plural forms can be changed to this form to
get what is called ;._;_4,1 é::- e.g., :&-‘ is the plural of 3&:, and xS itself can be changed to
‘;,'f Ul . But this last form cannot be made plural further. That is why it is called the ‘ultimate
plural’,

> These two words belong to the class of:,:;;r! L,-J-l ;.-l like :.-:J! c;.;li etc. These words are
treated as singular, though they are plural in meaning.

A triptote is a regular noun which accept the tanwin.
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(2) if they are non-Arabic ( Hw\) eg., u\....Sb ‘.J) Lrvﬁ\j‘ If a non-

Arabic proper noun is masculine, and is made up of three letters of Wh]Ch the

second is sdkin, it accepts the tanwin, e.g,, Ol ‘C Jr (o B )S cc y But if

loz! b )oz

it is feminine, it remains a diptote, e.g., & 4 &\ ¢ @ ).e (o cua.w- cl.v

If a non-Arabic word was taken in Arabic as a common noun, and was later

*-0 -

used as a proper noun, it accepts the tanwin, e.g., y» ¢ which is a Persian

word meaning a gem, and is also used as a name.

(3) if they are (Jj-\—l-ﬁ i.e., on the pattern ofJ-;S (fu‘al-u), e.g., cJ;) cj:o.ﬁ

Ja g5
(4) if they end in extra alif and niin, e.g., Clis (Olad OV g 4 (Oliasy The

w2 - ¥ o0

name Ol.> accepts the zanwin because it is on the pattern of dw from ;pw,

and so the O is the third radical, and is not extra.

20 ¢

(5) if they resemble a verb in their form, e. g , s> which is on the pattern of

a3 Tgo’; e j which is on the pattern of &t ‘he sells’.

2 o000 »~

(6) if they are compound of two nourns, e.g., & ¢ o> u.) )Lm

Adjectives

Adjectives do not accept the tanwin in the following cases :
2 oz

(1) ifthey are on the pattern of J.ao\ provided they are not made feminine with

20 z S0 2 0 702

the td’ marbitah (8), e.g, s> «,S1. The feminine of ;S is & ,S, and

l-E: , and b ,l' are prophets, L..., is one the sons of Adam (may peace be on him), C,» is
George, et is a name in India and Pakistan.

% Names of cities in Australia, England, Turkey, France, Syria and Afghanistan : Perth,
Bath, Mus, Nice, Homs, Balkh.

% _,J* and }, are names of persons; }-:, is the planet Saturn, and y is the name of a pre-

Islamic idol
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that of ,or\ is ;\ ,or The word J» )‘ ‘widower’ accepts the fanwin because its

cr0 2

feminine is dbs 5 ‘widow’.

(2) if they are on the pattern of O\, e g, SHa (Olaks Clads (O o

(3) if they are J yaxe. A ma ‘diil adjective is one of the two following things

2 s00
a) the numbers which are on the patterns Jwb and Jads eg, & “three at a
2 cor

time’, tb » ‘four at a time’; ,_5—-—0 ‘two at a time’, <4 ‘three at a time’.

o £ . - 0srd 20 Jo o -

In the Qur’an (4 3) : u—‘rg u\..b\.»\y&,u @\.J\é\)!.m Y\V_nru\}

RS

a3y o 9 ,_5-—-—1: ';L-J‘ ‘And if you fear that you will not deal justly with
regard to the orphans, then marry of the women, who please vou, two or three

or four...

b) the word f" plural Of‘SJ"‘ In the Qur’an (2:185) 6&5 )\ L.a.sf oS u‘)

//{ v, ® wz s v

) (b\ o a.w ,a-» ‘And he who is sick or on a journey (let him fast the same

number of) other days.’
I‘RAB! OF THE DIPTOTE

We have learnt the 7 7db of the diptote in Book (L 23), and in the first lesson
of this book. The jarr-ending of the diptote is fathah instead of kasrah €. g ,

s s s Or

] J_\.S o s d Cwwyd ‘I studied in many schools.” - ¢ ok .5“ oL 0 UJ"-"

s cor 2 22

‘I travelled from London to Berlin.’ -- ) S 642 ‘These are Zainab’s
books.’

But it takes kasrah like a regular noun in the following two cases :

a) when it has the definite article -al, e.g., db\-'-ﬂ‘ Oih S WA | stayed in

- ok! @ 2 oo

these hotels.” -- ,er"ﬁ\ P.L:Sb S’} “Write with the red pen. uw M el
0\9 );-\ -U)-U ‘I gave the loaf to the hungry boy.’

re O P > R ERR crr

In the Qur’an (70:40) : u,).suj HRSHENPRCRRAY o | "-J\ % ‘But, nay! I
swear by the Lord of the easts and the wests that We are mdeed Able.’
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b) when it is muddf, e.g., 4..:.\1\ Ty )\.u 3 Cw )3 ‘I taught in the schools of
Madinah.” -- JY%—u ;u.ng ci.ai\ ‘I contacted Bilal’s friends’ ‘_',-ar\ ‘;.» yn

2
u‘)khl\ ‘He is one of the best students.’

©orssr 0 s

In the Qur’an (95:4) " )4; u‘"\ @ o\_.."j\ Lal> udl ‘We have indeed created
man in the best stature.’

Note the words : 9\» plural of u-:—u ‘meaning’, 2‘}? plural of i; ?\? ‘girl’ --
J\;q—; plural of 3\ ‘club’. Such words are on the pattern of :}f—\m, and at the
;ame time they e;re mangqiis as their third radical is yd’, which ;ppears if these
words take the definite article -al, s>} ;.SS «$y ‘,;_.\ > 9,\_,1‘ These are called the

-3 3

mangis of thes;fbt:.l\ cd.-\, and they are treated just as the mangis ini‘rdb.
They take the tanwin in the raf” and jarr cases, but not in the nasb case, e.g.,
Marfi* ; S Olas b ‘:L«AQ\ PRTS ‘“This word has many meanings.’ HereO\a;'is
mubtada’, and is marfii‘. Here it takes the tanwin.

Mansib : &3SV odd 5 S gw o f—\ ‘T know many meanings of this word.’
Here it is maf ‘il bihi, and so it is mansib. Here it does not take the tanwin.

A 000 2

Majrir : 8 ;._S d\a.e_f i IS o..ua Jo#iwd “This word is used in many

meanings.” Here it is majriir as it is preceded by a preposition. Here also it

takes the tanwin. Here is another example :

0 2 e F I

Marfi* : M-L’u g La Lo y “Various clubs are found here.’

/A)/ e

Mansib : M-l-?u gs:\ ¥ U u*"""‘ ‘People have founded various clubs.’

Mo L 2

Majrir : u.L:u s\ y J saf s ‘Heis member in various clubs.’

&S Exercises

1) Point out all the instances of the diptote (< ,al! Nold #dl) occurring in

the main lesson, and mention the reason for their being diptotes.

2) Point out the diptotes occurring in the main lesson which have kasrah in the

Jarr case, and mention the reason for that.

For Personnal use Only. Courtesy of Institute of the language of the Qur’an (lugatulquran@hotmail.com),
and by kind permission of Shaykh Dr. V. Abdur Raheem



o 2

3) Point out the diptotes (d ,-05\ Nald )—ol\) in the following sentences, and
mention the reason for thelr beeing so. Ifthey have kasrah in the jarr case,
mention the reason for that.

4) Rewrite the following sentence with the diptote having kasrah.

5) Use the word )‘3;? in three sentences making it marfii ‘ in the first, mansitb
in the second and‘ majrz?r in the third.

6) In the sentence :\:35\9 TS the first word has no fanwin while the second
has. Why ? / ,

7) Why is the word 3 )\ not a diptote though it has a verbal pattern?

o oz

8) Give an example of a diptote having kasrah in the jarr case because of its
having the definite article.

9) Give an example of a diptote having kasrah in the jarr case because of its
being mudaf.

10) Give an example of each of the following :

a) an adjective which is ma ‘dil.

b) non-Arabic proper noun.

¢) an adjective on the pattern of :JM

d) a feminine proper noun.

e) a ma ‘diil proper noun.

f) an adjective on the pattern of :J.d\

g) a proper noun ending in extra alif and niin.

h) a compound proper noun.

i) @u\ C"'“

j) a noun ending in alif al-ta 'nith al-mamdidah.

k) a noun ending in alif al-ta 'nith al-magsirah.

1) the mangiis of the @‘-—“i‘ ,@3"

m) a feminine proper noun which accepts the ranwin.

n) a non-Arabic proper noun whxch accepts the tanwin.

11) Both the proper nouns P“N ) and b }3 are non-Arabic, but the first does
not accept the tanwin while Eh‘e’seconﬁi fioes. Why?

12) Both the proper nouns g yr and cb are non-Arabic, and both are made of

three letters of which the second is sdkin. But the first accepts the ranwin
while the second does not. Why?

13) Which proper noun may be used both as a diptote and a triptote?
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